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1. UTP .ver2




T3_MP5_12 014+

1.2 Input Converter+

ID = MULL, command = p, data

= zing.txte

T3_MP5_211_000+

211 System Controllers

¢ _ID = user, command = 1, data

e

= zing.txte

T3_MPS_211 001+

211 System Controllers

¢ ID = user, command = 2, data

= sing.txte

T3_MPS_211 002+

211 System Controllers

c ID = user, command = 3, data

= 1000+

T3_MNP5_211_003+

211 System Controllers

¢ ID = user, command = 4, data

= 100+

T3_MPS_211 004+

211 system Controllers

¢ ID = user, command = 5, data

= userd+

T3_MPS_211 005¢

211 System Controllers

¢ ID = user, command = 6, data

= userz+

T3_MP5_211_006+

211 System Controllers

¢ ID = user, command = 7, data

= userlisttxt+

=




T3_MNPS_211 007+ 211 System Controllers c ID = admin, command = 1,
data = sing.txts

T3 _MPS_211 008« 211 system Controllers c ID = admin, command = 2,
data = sing.txt¥

T3_MNPS_211 009+ 211 system Controllers c_ID = admin, command = 3,
data = 1000+

T3_MNPS_211 010+ 211 system Controllers c_ID = admin, command = 4,
data = 100«

T3 _MPS_ 211 011+ 2.1.1 System Controllers c_ID = admin, command = 5,
data = userzs

T3 NP5 211 012+ 211 System Controllers ¢ ID = admin, command = &,
data = userzs

T3 NP5 211 013+ 211 System Controllers ¢ ID = admin, command = 7,
data = userlist txts

T3_MNPS_211 014« 211 System Controllers ¢ ID = NULL, command = 1, data |

.

= sing.txts




T3_MNP5_2131 000+

2131 Admin Calculators

c (¢ ID = user, file = sing.txt, ID
= NULL, command = 3, r_ink =

100, r_paper = 1000+

T3_MP5_2131 001+

2.1.3.1 Admin Calculators

c (¢ ID = user, file = sing.txt, ID
= MULL, command = 4, r_ink =

100, r_paper = 1000+

T3_MNP5_2131 002+

2131 Admin Calculators

c (¢ ID = admin, file = sing.txt,
ID = MULL, command = 3, r_ink

= 100, r_paper = 1000+

Ta_NP5_2131 003+

2131 Admin Calculators

c (¢ ID = admin, file = sing.txt,
ID = NULL, command = 4, r_ink

= 100, r_paper = 100+




T3_MNP5_2152 000+

2.1.3.2 Refill Controllers

Command = 3,

amount = 100+

T3_MNP5_2132 001+

2.1.2.2 Refill Controllers

Command = 3,

amount = 101+

T3_MNP5_2152 002+

2.1.3.2 Refill Controllers

Command = 4,

amount = 1000+

T3_MNP5_2132 003+

2.1.3.2 Refill Controllers

Command = 4,

amount = 1001+




2. UTR .ver2




T3_NPS_11_000¢ Pass+
T3_NPS_11_001¢ Passe
T3_NPS_11_002¢ Passe
T3_NPS_11_003¢ Passe
T3_MPS_11_004¢ Passe
T3_MPS_11_005¢ Passe
T3_MPS_11_006¢ Passe
T3_MPS_11_007¢ Passe
T3_MPS_11_008¢ Pass+
T3_MPS_11_009¢ Pass+
T3_MPS_11_010¢ Faile
& a
T3_NPS_12_000¢ Passe
T3_NPS_12_001¢ Passe
T3_NPS_12_002¢ Passe
T3_NPS_12_003¢ Passe




T3_NPS_12_004¢ Passe
T3_MPS_12_005+ Passe
T3_MPS_12_006< Passe
T3_NPS_12_007+ Passe
T3_NP5_12_008¢ Passe
T3_MPS_12_009 Passe
T3_NP5_12_010¢ Passe
T3_NP5_12_011¢ Passe
T3_MPS_12_012¢ Passe
T3_NP5_12_013¢ Passe
T3_MPS_12_014¢ Passe
a 8
T3_NPS_211_000+ Passe
T3_MPS_211 001+ Passe
T3_MPS_211_002¢ Faile
T3_MPS_211_003¢ Faile
T3_MPS_211_004¢ Faile
T3_MPS_211_005¢ Faile
T3_MPS_211_006¢ Faile
T3_NPS_211_007+ Passe
T3_MPS_211_008¢ Passe
T3_NPS_211_009¢ Passe
T3_NP5_211_010¢ Passe
T3_MPS_211 011+ Passe
T3_MP5_211_012¢ Passe
T3_MPS_211 013+ Passe
T3_MPS_211 014+ Faile




T3_NP5_2122 000+

Pass+

T3_NP5_2122 001+ Pass+
A a
T3_MP5_2123 000+ FPass+
T3_NP5_2123 001+ Pass+
A a
T3_NP5_2124 000+ Pass+
T3_NP5_2124 001+ Pass+
A a
T3_NP5_2126 000+ Pags+




T3_MPS_2126_001+ Pass+
T3_MNP5_2126 002+ Fail+
T3_MPS_2126_003+ Fail+
T3_MPS_2126_004+ Fail¥
T3_MNP5_2126 005+ Fail+
T3_MPS_2126_006+ Passs
T3_MPS_2126_007+ Pass+
T3_MNPS5_2126 008+ Pass+
T3_MPS_2126_009+ Fail¥
T3_MPS_2126_010+ Passs
T3_MNPS5_2126 011+ Pass+
T3_MPS_2126_ 012+« Pass+
A A
T3_NPS_2131_000¢ Passe
T3_MPS_2131 001+ Pass+
T3_MPS_2131 002+« Pass+
T3_MPS_2131 003+ Pass+
A A
T3_MPS_2132_000+ Passs
T3_MPS_2132_001+ Fail+
T3_MNP5_2132_002+¢ pass+
T3_MPS_2132_003+ Fail¥




T3_NPS_2134_000¢ Faile
T3_NPS_2134_001¢ Faile
T3_NPS_2134_002¢ Passe
T3_NPS_2134_003¢ Faile
a a
T3_NPS_2135_000¢ Faile
T3_NPS_2135_001¢ Faile
T3_NPS_2135_002¢ Passs
T3_NPS_2135_003¢ Faile
a a
T3_NPS_2136_000¢ Faile
T3_NPS_2136_001¢ Passe
T3_NPS_2136_002¢ Passs
a a
T3_NPS_2137_000¢ Fail®
T3_NPS_2137_001¢ Passe

T3_NP5_2137_002+

Fass+




T3_NPS_2121_000¢ Faile
T3_NPS_2121 001+ Faile
T3_NPS_2121 002+ Passe
T3_NPS_2121_003¢ Faile
T3_NPS_2121 004+ Passe
T3_NPS_22_000+ Pass+
T3_NPS_22_001¢ Passe




3. Team3 STP




Identifier Feature Valid / .

MPS_STC_000+ = mAle | ZEOBE AED HAY el Ao =75 2o e |

= B AHEAL T IH oE @A UE F U 232 F
£ X F, Oi71F =71 =30 2 Fohe

MPS_STC_100+ S EFY | AFERCE CIHeEE BYE O, S Z2HTE 54 F0| |
o, A = A 51}5}”4 B2 CHE AMFTL
e H@A 2 Fo|AHL =8 F0IE == BAME 2
At SoEE 7] 2 JEl= B CH7ISHoH T %
2] HEo I =LE Ardel HE =FT0h T OIA

=7t 538 0|0|E o HTHE =4

NPS_STC 200¢ | =7 @Xe | 7 Z2H7} Q14 S0/ X3 Zo|o 2= =51 |

of7] ol ch=|A7F RICHE O Cf7|xte| ot 2l

ZiCtH HE52e= S0ttty

NPS_STC 300¢ | =M g@%Xo | admin0] 2% =1} 93 =X MsN =X 2o

71Ee e w3 30l AAE GER BATY HAS

otk T HOfF| 20 HCO8H 2322 §F 1000 1

= 270 A2 109 1== =FTD #CfX 20 ICHH
2]

_'_
a

Zo= SHO HOAHE TS S8 30 2 2
= = MPS_STC_400¢ | AFERF &3 | admin] AFEA S8 FUEE EUE SESIHE AMHEFRF
o _2CiE #T FHS MK 37 Y SO 5T ST S s s o ) g s D: vt
238 o[0] userlistixt =X =] = =7
o A= KABCHe 8 |0l ol Sl=% bol GICHE A gk
= ETYECIE AT

22 EHECOL admin0| AFEA 4H BE
= EUHE HASHE ARERPE userlisttxtt] Rl =
SHed QICHE LES =BT YCHE AFTHCH admino|
AEA =Y B2E EUTE userlistad] A 203Us

10M & Foglel 322 25 =2H7
7t&5t A E0| ofLEtE €EE £
Bl

—_

r

D

1R

3=

ujn
B oo 2

=/
25
=0l
=

=
T

1=
o
El

Ll
= A
T

[=]

<Table 1 System Test Design Identification>+




Test Case

Identifier
MPS_STC_Q00_000+

Input Specification

N = N S

Output
Specification

4

MPS_STC_100_000+<

P userh atuts

=50 dESY ~
EEAFN 1=,
201511242335 txt

MPS_STC_100_001+

p admin atxt 1sec p admin atxts

=50 dFEST ¢
=HTAFY 1=)+
h7|7p 2= 1, «

201511242335 txts

MPS_STC_100_002#

pouserA atxt lsec p userB atxt lsec p
userC atxt lsec p userD atxt lsec p userk

a.txt 1sec p userfk atxt #

=50 MFEST ¢
=TT 1=)¢

o T by S S
201511242336 txte

L

MPS_STC_100_003#

p ouserA atxt lsec p userB atxt lsec p
userC a.txt 1sec p userD atxt 1sec p userE

a.txt 1sec p userF atxt 1sec p admin atuts

=H0| dFASY +
SEAFN 1=)4
O 7[7H=F BEor 2l

=k A
= T

201511242337 txt+

[
gcte g




MPS_STC_100_004+«

I admin 300 2sec p userA atxte

A3 £300(3F)
IR 2= 1,
S8 24T 2

= 77 &= 00

MPS_STC_100_005+

a admin 20 1sec p userA atxte

EX| +20(2%)+
ozl= = 1, 548
=LIE 2z, O
7|R} £ peo

MPS_STC_200_000+

p userd atxt s admine

50 YASY ~
SEAFM 1=)
== 40 253
2= HE ¢

201511242342 tutv

MPS_STC_200_0D02+«

iadmin 20 s admin+

B +2002%E) ¢
i 2 F ofy

—
BHe orge

MPS_STC_200_001+

i admin 300 s admin+

Y3 +300(3FE)+
A 2 F ory

[ a1
2= 2Ev

MP5_STC_200_003+

p userA hellotxt lsec p userB aixt s

admin<

=3o| TFESU ¥
SHEAF 1=)¢
userA 214 F C47|
T % 1, userA ¢
HH BHE = userB
oI,
201511242350 txts

MP5S_STC_300_000w

3 admin 5+

27X +5(1=E)

MPS_STC_300_001+

i admin 30«

A3 +30(1=E)

MP5_STC_300_D02+

p userd atxt lsec a admin 1<

30| WPF v

SEOF 1),

7y ol Solo=
T 2 gtk

ey

=8 g+
2FEF

= O

201511242356 txt+




MP5_5TC_300_003+

i admin 200 1lsec a admin 10+

ool 8 S0lzk=

2.

Y3 +200(2FE)

MPS_STC_A400_002+

d admin gﬂgﬂky

Userlist.txt o A
dslab {7, =& 2
g HAlER] Ed€e

MPS_STC_400_003+

J admin userA(EFSt= |FH)

8% £2 AR 0

ME ESe

MPS_STC_A400_004+

d admin yuri(EJota Z= FAe

HH HE OAA

s

MNPS_STC_300_004¢ | i admin 2000¢ Z{A =2 FHEC
= TE
U3 20000
NPS_STC_300_005¢ | a admin 100 HA = FSHECH
= TE
£% 100
NPS_STC_300_006¢ | a admin -50¢ =48 UEID B4
=4
NPS_STC_300_007< | i admin -1000¢ Eo B =
=4
MPS_STC_400_000+ | h admin + userlisttxte] SE
L
MPS_STC_400_001+ | j admin dslabe userlisttxt0f dslab

2=l

MPS_STC_400_005+

| admin dslab 1sec h admin+

userlisttxt® dslab
x7he
dslab0] =72 S

g g3

—

MPS_STC_400_006+4

d admin userC 1lsec h admins

userC?F  userlisttxt
oMo AH+
userC?F HHE S

g g3

—

MPS_STC_400_007+

p userd atxt 1sec | admin dslab #

=50 dgs v

sHHLEY 1=)+
sAl =g| ojL Dz

T "1

= A =k A
s EWE =+
il arar
2Ch= e

2015112506 txt+




MPS_STC_400_008+

p userh atxt lsec d admin dslab+

MP5_STC_400_009

p userh atxt lsec h admin+

3ol NAFO ¢
STAF 15)¢
SA Zo| ooz

AEYEE A
=dEg =

€2 o
I o
rr o

=] 3 =1
= |:|J"‘-I

MPS_STC_400_010+ | a admin 20 1sec | admin dslab+ S Al =0| oL ER
g2 =¥ =
Gthe ZE
23X +20(273)w
MPS_STC_400_011+ | a admin 20 1sec d admin dslab+ =4 Z0| OILEZ
Fag 23T &
Qlchs 2Ete
23X +20(273)w
MPS_STC_400_012¢ | a admin 20 1sec h admin® Z4 50| oL EEZ
Fag 23T &
Qlchs 2Ete
=X +2002FE)

ry

T

T

T




4. Team3 STR




Test Case
Identifier

Input Specification

Output
Specification

Test
Result

MPS_STC_100_004+4

i admin 300 2sec p userA atxte

A3 +300,¢
oy7| A 2= 14
=4 24T 2

= Oj7|x £ oe

afxt 1sec p userC afxt 1lsec p
userD aixt lsec p userk atxt
lsec p userF aftxt 1lsec p

admin atxte

H

gLk
ED‘J

% gtk

MPS_STC_Q000_000« | =27 A& e Pass+
MPS_STC_100_000¢ | p userA atxte =SHo| MFEES + | Passe
=3,
201511242335 tuts
MPS_STC_100_001¢ | p admin atxt 1lsec p admin | Cf7|&f = 1, ¢ Fass+
atxte 201511242335 txtv
MPS_STC_100_002¢ | p userA atxt lsec p userB o= = Ea 5, | Pass+
aftxt 1sec p userC atxt 1sec p | 201511242336.txt+
userD atxt lsec p userE atxt
lsec p userf atxt +
MPS_STC_100_003+< | p userA atut lsec p userB | CHZ[AZF BOF 21| Passe

MP5_STC_100_005+ | a admin 20 1sec p userA atxte | X +20+ Fail+~
2z = 1, &8
DUE QYE, o
I
MNP5_STC_200_000+ | p userA atxt s admine =5 I 54 | Passe
=EoE HE ¢
201511242342 txt+
MP5_STC_200_001+ | i admin 300 s admin< 213 +300,+ Pass«
o 21 F ofl
e L.
MNP5_STC_200_002+ | a admin 20 s admin< 27 +20+ Pass«
S 2 F ofd
e 2.
MPS_STC_200_003+ | p userA hellotxt 1sec p userB | userA QI F Cf | Passe

a.txt 5 admine

FIEE z= 1, userd
Ay EE =
userd o4,

201511242350 1=t




MP5_STC_300_000+

a admin 5¢

=& +5(1=E)#

Pass+

MPS5_STC_300_001#

Ladmin 30+

A3 +30(1=E)s

Pass+

MPS_STC_300_002#

p userA atxt 1sec a admin 1+

= ol Fole
=88 s
e YR

201511242356 txts

Pass+

MPS5_STC_300_003+

ladmin 200 1sec a admin 10+

oljol &8 Fol=t

| —
= ZE

A3 +200(2E)e

Fail+

MPS_STC_300_004+4

l admin 2000«

#fxlz SFoC

- QFZF
= El:lr"-I

23 3000+

Fail+~

MPS5_STC_300_005+

a admin 100+

2 jx= ZHBO

—
£ gEo

=X 100

Fail+~

T

NP5_5TC_300_006« [ a admin -50+ =3
=

MNPS_STC_300_007+ ladmin -1000+# =H x|l Z4 | Passy
=4

MPS_STC_400_000+ | h admin # userlisttxte| SE | Passy
=30

NPS_STC_400_001+¢ | j admin dslabe userlisttxt0f dslab | Faile
=7}

NPS_STC_400_002¢ | d admin dslabe Userlist txt0f] A Fass+
dslab A A, A
%z HAX| EHe

NPS_STC_400_003+ | ] admin userA(ETTt= |FH) | FH 55 HE O | Passe
AR EFe

MNPS_STC_400_004¢ | d admin yuri(ETotZx] H= 7 | 48 HE AR | Pass

H)e =0
NP5_STC_400_005+ | ] admin dslab 1sec h admine userlisttxt®f dslab | Fails

7}
dslabo] F7HE =

2 g3




MPS_STC_A400_006« | d admin userC lsec h admine | userC?} userlist.txt | Passe
o4 A4F .«

userC7t 4 H = =

= 30
MPS_STC_400_ 007+ | p userA atxt lsec | admin | 84 F0| OfLIE [ Passe
dslab +# = d= 2T
& o YR
2015112506 tuts
MPS_STC_400_008+ | p userA atxt lsec d admin | F4 F0| OfL|E [ Pass#
dslab+ = HE SHWE
& gints gy

MPS_STC_400_00%9 | p userd atxt 1sec h admins Z4 Z=p| OFL B | Passe

HA = = 0O
2015112508 txte
MPS_STC_400_0010+| a admin 20 1sec j admin dslabe| 54 F0| OfLIE [ Passe
= zEg suE : —
MPS_STC_400_011+ [ a admin 20 1lsec d admin | 4 F0| 0}
+ irhs ZE =
= ~ dslab+ E BHEE =
x =
SH +202Z) 2 Oifps QbEr
T HA — =2 0O
27X #2002

NPS STC 400 012+ Eadmin 20 1sec h admins &l Z=0| OfL|E | Passe
2

op 4+ H ol




Failed

S0 Lt tho]o
Ui THO|AF =01 =0

0| Lt tiJ]o
W ChOTAE =01 =0

NPS_STC_100_004
HE QIO &l E

=Al =L

NPS_STC_100_005
HE QIO &l &

=Al =L

MPS5_STC_100_0D04+«

i admin 300 2sec p userA atxte

213 +300,+
IR 2 1.0
=8 ZLUE 20

=, o7|% % 00

MPS_STC_100_D05+

a admin 20 1sec p userA atuts

2X +20+
oA & 1, S5
BUE AYE of
7|7 % 00

Fail+

MPS_STC_400_D01+

userlist txtd|

2=

] admin dslab# dslab

Fail+

MPE_STC_400_D05a

userlist txt| dslab
F7he
dslabo| =72 =

= g0

J admin dslab 1sec h admins

Fail+

dslabO| 2} 17 userlist.txt0] 2 0|2 SIX|BFCI=2 =
MOLR] 220FA D1 E L] OFA[EFID S0 O] 01 A 4

NPS_STC_400_001, NPS_STC_400_00




Failed

NPS_STC_ 300 003
0|0 &8 S0[2t= &g 0| Al Z=L

NPS_STC_300_004

ICHe atgte o)

L =200 —

SHE A= =L

B

=
P !
o HU
Pal O-|>1|
HU

rol

NPS_STC_300_005

ZIU A = SHelth= 22w,
2| U A =2 SHE A= S=Ch

MPS5_STC_300_0D03+

iadmin 200 1sec a admin 10+

9|3 +200(2%)

NPS_STC_300_004¢ | i admin 3000¢ A fX2 ZHBCH
= g
213 30000
NPS_STC_300_005¢ | a admin 100¢ ACfAE =HSHCH

= OrEF
= =o,.*

=X 100¢




5. Team4 STP




Identifier Feature Valid /
NP5_5TC_000+ B mAle | ZEJHUE AESHE A ZRet AZEn E=2|5 =08l
X , HA MEf, A MY ¥, Mo Y3 F,
ol X =, f7|RF =7t &S0 £Y Eiche
NPS_STC_100¢ 2l aFe | BRI AMaEE BHE o, ®X Z2EI 54 Fo|
ZH FAO] E0SHEH HEE UM E AIFFHCL
THer A 2l Fo|HLE EH Fo|H E=HE BME E
AlSt EDHSHE cfr| 52 HeiE obECH of7|SHoeE &
Lol LA Fpdle| 2UME TTCE DRSF OfT|X:

—

lo
47
e

=7t 38 olgo|E o =EHE EHTOw
NP5_5TC_200+ S 28 | @F =Z2E2E 2y Fo[A T Fo|F UHE TESL
T2l ol Ch2IxH2h RACHE O Cf2[&pe] DtzEs 245t
GOE HEe= EOHIChHe
MPS_STC_300+ =M ¥y | Admin0] EX =FO 23 =¥ HHoE =8E 20

=
71EL FE T 4ol HRE E=X ZHESH &

1)
[o

[T = O =
TREHCE TS HOjA| 20 O3 Y=o H2 1000 1
= EXe] H2F 108 1= =JFErn FLOfH ECF ICHH
TEE SO FHOX=E TSR Ecth 58 3o 2 \
# FHo 208 =iy BEE Ao J@A 22 B MPS_STC_400¢ | AMFEFRF &8 | Admin0| MEF 55 B8 EUT SE0dHcs MER
o 82 A5 ¥Tnh 58 T Yol s+2t¥ G QFe 7t 0|0] userlistixtoff RU=X =20t GCHEH M= YH
x| geChe St EFTCHEA LEE ESTCE Admind| ARSRE A
23 EUT HHSHIs MEAPL userlistixdf| U=X|
25t QoY TEE E=SH [UCHE AFETHO-
Admin0| AMEZR 9 HE ELHD userlisttxtd SHIY

IR

=
MO IDE BE

ZEH B

{ sETCH 9o BY2 BE
5511 34 Fo| ofLlEE ¢

iis
of4
2
o 2 mo &
N




Test Case
Identifier
MPS_STC_000_D00¢

Input Specification

ZEOH AR

Qutput

Specification

a

MPS5_STC_100_000+

userd atxs

WAITING->Priniting+
20| B ¢
=HIF 1=)+
201511242335 tute

MPS_STC_100_001+

Admin atxt 1sec Admin a.txts

WAITING->Priniting+
30| A ¢
SHEAQHY 1E)~
WatinglList 220 Cf
IR £, ¢

201511242335 txt+

MPS_STC_100_002¢

userd atxt lsec userB atxt lsec p userC

a.txt lsec p userD a.txt 1sec p userE a.txt

1sec p userF atxts

WAITING->Priniting+
=30 ABEA «
SHALEH 1E)-
WatinglList 220 Cf

17 &S, ¢

201511242336 txta

MPS_STC_100_003+

userd atxt lsec userB atxt lsec userC
atuxt lsec userD atxt lsec userE atxt

1sec userF atxt 1sec user a.txsd

WAITING->Priniting+
o WS «

SHALEY 12=E)+

w:atinglist BEY Of
R =S, ORE S
o7t BHES 7R
= g3 ome

MP5_STC_100_004+

Admin Ink 300 2sec userd a.txte

A3 +300(32=)+
WatingList 220 Cf
7|7 EE, ¢

= =LE
WA]'I'ING—>PrI'n|'t|'ng,
WatingList 220 b

27«

MPS_STC_100_005+

Admin A4 20 1sec userd atxte

X +20(2=E),¢
WatingList B2Z0] Cf
1% EH, ¢

= Zute
WAITING- > Priniting,
WatingList 220 H

27«



MPS_STC_Z200_ 000+

userd atxt lsec Stops

Printing->WAITING, +
gdo| ABFA ¢
stEAE 1=)+
201511242342 txte

MPS_STC_Z200_001+

Admin Ink 300 Stop+

U3 +300(33)+

NPS_STC_200_002¢

Admin Ad 20 Stop+

=X +20(27FE) ¢

MPS_STC_200_003+

userA hello.txt 1sec userB a.txt Stop+s

userA 2l I O§7| |

A== 1, userd 214
BE = userB 2l

201511242350 txt+

201511242356 txt+

MPS_STC_300_003+

Admin Ink 200 1sec Admin A4 10+

ojo =d Jolzks

grEr
= El.l‘-l

U3 +200(22E)

MES_STC_300_000+

Admin A4 3(F)«

SR +3(1=)w

MPS_STC_300_001+

Admin Ink 30+

U3 +30012)

NPS_STC_300_002¢

userd 3.txt 1sec Admin Ad 1

sm oy ooz |

4 g = Eod

44

=

- of

MP5_STC_300_004+«

Admin Ink 3000

Oy  EoEbs

L] 3=l g
= I:I.l‘_I

913 30000

MPS_STC_300_005+

Admin A4 100+

OfE  EoEbe

L] 3=l
= I:I.l‘_I

27X 1000

MPS_STC_300_0D06+

Admin A4 -50+

= g ol

WATTIMNG+

MPS_STC_300_007+

Admin Ink -1000+

=T g

WATTIMG+

MPS_STC_400_000

Admin Show #

userlisttxto] S& =

=

MPS_STC_400_001+

Admin Reg dslab+

userlist.txtd| dslab

=7h dE OAME =
2

MPS5_STC_400_002+«

Admin Del dslab+

UserlisttxtoflA  dslab

%o




NPS_STC_400_003+¢ | Admin Reg userA+ oF SE HE OA |

Al £
NPS_STC_400_004¢ | Admin Del yuri¢ AH ME mAR = |
=R
MPS_STC_400_005+ Admin Del userC 1sec Admin Show+ userCAF userlistixtof |
MoAH

userCZk A E S5

£y
MPS_STC_400_ 006+ userA atxt 1sec Admin Reg dslab + =80 E=9 o

SHEAE 1=)+
=5 2= £8¢
2015112506 1xt+
MPS_STC_400_007+ userd a.txt 1sec Admin Del dslab+ E8H0| FHEFO
StHAEH 1=+
4 2= ES

2015112507 txte
MPS_STC_400_ 008+ userA a.txt lsec Admin Showe =H0| AHEO ¢ : NPS_STC_400_00%¢ | Admin A4 20 1sec Admin Reg dslab+ 27 =X =Zolzt &
SHHAFN 123=)+ s DOSICH Ede
uerlist.txt %F—E'd-' _gxl +2{}(2£]‘J
2015112508 txte MPS_STC_400_010¢ | Admin A4 20 1sec Admin Del dslabe 2% =® Zo|gt A
o T =He
2% +20(2F)«
MPS_STC_400_011¢ | Admin A4 20 1sec Admin Showe 275 =& =o|gt A
o ZEoihh 8
8% +20(2E)«




6. Team4 STR




Test Case
Identifier

Input Specification

Qutput

Specification

Test
Result

MPS_STC_ D00 000« | =2 A& a Faszs+

MPS_STC_100_000+ | userh atxte WAITIMNG- Fail+
=Priniting+ (U3, 27
g0 BIY ¢ |7t S0E
ST 1=)¢ = 250]
201511242335txte | QbR Ohyp

MPS_STC_100_001+ | Admin atxt 1sec Admin atxte | WAITING- Fail+
>Pr|'n|'t|'nﬂ4J (Ct=2la
E40| FFEF2 ¢ | b

SELFA 1=
WatingList 2E0
L7 |&F &5, «
201511242335 txte

MP5_STC_100 002+ | userA aixt lsec userB aibx | WAITING- Fail+~
lsec p userC atxt lsec p :-Prinitinga-' (Ch=gld
userD atxt lsec p userE atxt | EH0| EAFY « | 27h#
lsec p userF atxte EHAEY 13E),+
WatinglList £F0f
7| R =&, .
201511242336 txt+
MP5_5TC_100 003+ | userA aixt lsec userB abd | WAITING- Fail+
lsec userC atbxd 1sec userD | »Priniting+ (Ck= oA
atet lsec wuserE atxt lsec | EH0| HFEFC « | S7h#

userF atxt 1sec userG atxisy

ALY 1=)¢
WatinglList S2Z0f
CHZ|xF =4, Ox|
% Sofzt L
h7|RtE = o
Zle




MPS_STC 100 004¢ | Admin Ink 300 2sec usera A3 +300(3E)+ Fail+ A
atxte Watinglist HEof | (0 2
Ci7|xF =4, « =7h+
=3 =LHE
WAITING-
>Priniting,
WatingList 2Z0
H| 27|
NPS_STC_100_005¢ | Admin A4 20 1sec userA atxte | 8X +202%E)« | Faile : NPS_STC_200_000< | userA a.txt 1sec Stope Printing- Fail«
Watinglist 20| |} 22 };;EINE%%B ) 'E:“F’% =l
IR g e | 2D SEAFO 1E)0 | waitinglist
=T =LHH 2015112423424xt¢ | O =7}
WAITING- of =iz,
}M MPS_STC_200_001+¢ | userA hellotxt 1sec userB atbd | userA 2l F Cf | Failv
WatingList 280 Stop¥ IR 2= 1, userA | (CHE U
Bl =7l Az  BE  F | g7
userd 012,
201511242350 txte
NPS_STC_300_000¢ | Admin A4 5(P}® 2R +5(1%)e Pass®
NPS_STC_300_001¢ | Admin Ink 30¢ TERERESE Fail«
(232 =4
o] 100] 1
=M B
NPS_STC_300_002¢ | userA atxt 1sec Admin A4 1¢ | ®Z 2I#f Zo|o | Faile
E 0 o2 o+ @O ud
g = B =7h#
201511242356 txte




NPS_STC_400_001+¢ | Admin Reg dslab+ userlist.txt0f] dslab | Pass#
=L 835 A E
30
NPS_STC_400_002¢ | Admin Del dslabs Userlist.txt A Pass+
dslab 4%|e
NPS_STC_400_003+ | Admin Reg userA+ 25 58 HE O | Passe
ME e
NPS_STC_400_004¢ | Admin Del yurie YF HE OAX] | Fail(4H S
=30 Cta LS)e
NPS_STC_400_005+ | Admin Del userC lsec Admin | userC?F userlist.ixt | Fail(CtE

Shows

ofl A A7~

userC7F AR = =

=g =70

MPS_STC_300_ 003« | Admin Ink 200 lsec Admin A4 | ©|O0] =F Fo|ct | Faily
10¢ = ooz o o
Q)3 +200(2E) 27he
MPS_STC_300_004< | Admin Ink 3000+ F|C§ZF =1EHC= | Passe
oery
A3 3000+
MES_STC_300 003+« | Admin A4 100+ FCHEF =rEiCE= | Passe
EE
2% 100
MPS_STC_300 006¢ | Admin A4 -50¢ =H otg| 3 | Faile
WAITIMNG+ (0ez H}
=P |
a Sthe
MP5_STC_300 007+ | Admin Ink -1000+ =H otz 1 | Faile
WAITING» (0ez H}
HoZ=23
3 Sty
MPS_STC_ 400 000« | Admin Show # userlisttxte] S & | Pass+

£l

g £9
NPS_STC_400_006¢ | userA atxt lsec Admin Reg | 0| ABSQ « | Fail(C}E
dslab # StHAFY 1=)« | Y@ 27D
S5 2z =4

2015112506 txt+

MPS_STC_400_007+

userd atxt lsec Admin Del

g0 ABF ©

Fail(Ct=

dslab+ StHAFY 1=)« | 8™ 27D+
M| fE B
2015112507 txte
NPS_STC_400_008+ | userA a.txt 1sec Admin Showe [ E0| B F2 « | Fail(CHE

StHAEM 12=E)+
uerlist.txt S+

2015112508 txte

== =70




Failed

NPS STC_100_ 000

=9 & A3, A 501
ESOI LOIA = L
NPS_STC_100_001
Crs A= 0| P E[Al 2L

C| A

MPS_STC_100_000+4 | userd aixty WAITIMG- Fail+
>Priniting+ (Y3, 24

50| HESY ¢ | 7F =0E
AL 1= | = 250
201511242335.txte | QrE Yo

MES_STC_100 001« | Admin atxt 1sec Admin atxte | WAITIMNG- Fail+
Priniting (o=sud

ol HHEEY « | 27he




Failed

NPS_STC_200_000
Z2E Z s Al Stop2 E L, Cl~=d 0]
O| waiting list+ &0l &dotd F=20| FIH5
H 2

NPS_STC_400_004
Userlist == 0] 8le= A= AMA oA APA|etCh

ol
ot

MPS_STC_200_000+

userh a.txt 1sec Stop+

Frinting-
=WAITIMNG, +

20| B «
SALFY 1=)
201511242342 txiv

Fail+
(stopZ X
L}

o =7tE

of &

MPS_STC_400_004¢

Admin Del Mﬂ

HH AHE GAF

Fail (At R o
0 ug)e




Failed

NPS_STC_300_006

NPS_STC_300_007
UF? 0 Input =2 0]

NPS_STC_300_006«

Admin A4 -50+

=

WAITINGs

MPS_STC_300_007+

Admin Ink -1000+

=4

WAITIMN G




Failed

NPS_STC_100_002
NPS_STC_100_003
NPS_STC_100_004
NPS_STC_100_005
NPS_STC_200_001
NPS_STC_300_002
NPS_STC_300_003
NPS_STC_400_005
NPS_STC_400_006
NPS_STC_400_007
NPS_STC_400_008

ol =S oA R S.

MP5_STC_400_005+

Admin Del userC lsec Admin

userC?E userlist.txt

Fail(Ct&

Show+ oM A U= =7he
userC’t 4HE =
MNPS_STC_400_006+¢ | userA atxt 1sec Admin Reg | £0| IBE2 « | Fail(CHE
dslab » ALY 1=)« | UH S7he
55 = FH¢
2015112506 txte

MPS_STC_400_007+

userd aixt lsec Admin Del
dslabs

s30| WEF
ST 1),
47 o= B

2015112507 txte

Fail(C}=

U= =7he

MPS_STC_400_008+

userd atxt 1sec Admin Shows

=50 AHEZ2 v
SHHIZO 1=)+
uerlistixt S«

2015112508 txts

Fail{C}=

U= =he




Failed

MNPS_STC_200_001+¢ | userA hello.txt 1sec userB atut | userA 2l F COf | Fail
Stop+ IR = 1, userA | (CFEE o1H
2 BE = | =7he
userB 2l zf, NPS_STC_300_001¢ | Admin Ink 30¢ Y3 +30(1F)e Fail+
201511242350 txte (¥2 =4
o] 1004 1
NPS_STC_100_002¢ | userA atixt lsec userB abt | WAITING- Fail+ . =W HEhe
lsec p userC atxt 1sec p | >Priniting# (Crea= NPS_STC_300_002¢ | userA atxt 1sec Admin A4 1< | ®T§ 2§ Fo|2 | Fail-
userD atit Isec p userE atxt| EHO| WEFA « | 57H0 = ¥ E 4 0| s oY
1sec p userF atxte AT 13 0D =3 27he
‘u'lulfatl'nng'Et HEO 201511242356 txts
Th7 IR =8, «
201511242336 txt+
MPS_STC_100_ 003+« | userd afxt lsec wuserB aftxt | WAITIMG- Fail+
Kusem . ;;;;:wu*sern > Prinitinge: s o MPS_STC_300 003+ | Admin Ink 200 lsec Admin A4 | 0|0 =X Zo|ct
afxt ;;;w userk a_txtw;;:; 0| FZZO ¢ | E7hF 1< = E%H"J
userF atut 15;?% atxte AW 1)+ 83 +200@=)¢
WatingList SE0
Th7|xF =2, O:x|
% sofzr FL
oh7|xE =3 o
Zle




Thank You!




